
Multiply by Negative Powers of Ten (H)Find each product.
3.48 × 10⁻² = 3.37 × 10⁻¹ =
7.766 × 10⁻¹ = 8.6892 × 10⁻³ =
4.845 × 10⁻³ = 6.484 × 10⁻¹ =
4.959 × 10⁻¹ = 7 × 10⁻¹ =
5.5038 × 10⁻³ = 0.0115 × 10⁻² =
4.852 × 10⁻² = 4.53 × 10⁻¹ =
5.795 × 10⁻¹ = 0.008 × 10⁻³ =
3.6 × 10⁻² = 2.44 × 10⁻² =
3.725 × 10⁻³ = 0.4 × 10⁻¹ =
0.0967 × 10⁻¹ = 9.0254 × 10⁻¹ =
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Multiply by Negative Powers of Ten (H) AnswersFind each product.
3.48 × 10⁻² = 0.0348 3.37 × 10⁻¹ = 0.337
7.766 × 10⁻¹ = 0.7766 8.6892 × 10⁻³ = 0.0086892
4.845 × 10⁻³ = 0.004845 6.484 × 10⁻¹ = 0.6484
4.959 × 10⁻¹ = 0.4959 7 × 10⁻¹ = 0.7
5.5038 × 10⁻³ = 0.0055038 0.0115 × 10⁻² = 0.000115
4.852 × 10⁻² = 0.04852 4.53 × 10⁻¹ = 0.453
5.795 × 10⁻¹ = 0.5795 0.008 × 10⁻³ = 0.000008
3.6 × 10⁻² = 0.036 2.44 × 10⁻² = 0.0244
3.725 × 10⁻³ = 0.003725 0.4 × 10⁻¹ = 0.04
0.0967 × 10⁻¹ = 0.00967 9.0254 × 10⁻¹ = 0.90254
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